
Page 1 of 5 

 

 

Enrollment No: _______________________  Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
  Summer Examination-2017 
 

Subject Name: Surveying - II 
Subject Code: 2TE04SUR1                                     Branch: Diploma (Civil)     

Semester: 4                 Date: 15/04/2017                  Time : 10:30 To  1:30             Marks : 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 

Q-1  Attempt the following questions: 

 
(14) 

 a The process of determining the elevations of stations from vertical angles and 

geodetic lengths at mean sea level is known as 

(A) leveling                         (B) trigonometric leveling 

(C) triangulation                   (D) hypsometry 

01 

 b In trigonometric leveling, the correction due to refraction and curvature are 

determined 

(A) in linear measure              (B) in angular measure 

(C) Either (A) or (B)              (D) graphically 

01 

 c If ∆ is the angle of deflection of a simple curve of radius R, the length of the curve 

is (A) 𝜋 R. ∆./90      (B) 𝜋 R. ∆./180           (C)  𝜋 R. ∆./360        (D) 𝜋 R. ∆./270 

01 

 d The stadia method in tachometry is used to determine 

(A) horizontal angles             (B) vertical angles 

(C) horizontal distances         (D) horizontal and vertical distances 

01 

 e What is the Storage capacity of microprocessor in Total Station 

(A)2000 to 4000 points          (B)3000 to 5000 points  

(C) 1500 to 3500points          (D) 2500 to 4700 points 

01 

 
f A branch of surveying in which the horizontal and vertical distances of points are 

obtained by instrumental observations, is known as 

(A) chain surveying                  (B) plane table surveying 

(C) tacheometric surveying       (D) hydrographic surveying 

01 

 g The multiplying constant for the tacheometer is, generally, kept as 

(A) 20      (B) 40      (C) 60      (D) 100 

01 

 h The value of additive constant for the tacheometer varies from 

(A) 0 to 15 cm     (B) 15 to 30 cm      (C) 30 to 45 cm      (D) 45 to 60 cm 

 

01 

 i The long chord and tangent length of a circular curve of radius R will be equal if 

the angle of deflection is 

(A) 30°           (B) 60°         (C) 120°          (D) 150° 

01 

 j The radius of a simple circular curve is 30 m and the length of the specified chord 01 
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is 30 m. The degree of the curve is 

(A) 57.29        (B) 3.70         (C) 55.60        (D) 37.03 

 k Total angle of deflection of a transition curve is 

(A) spiral angle      (B) spiral angle/2      (C) spiral angle/3      (D) spiral angle/4 

01 

 l LCD in the control panel of a total station stands for 

(A) Light control device       (B) Liquid crystal display 

(C) Light centred device       (D) Lasting calibrated device 

01 

 m A total station displays 

(A) slope distances              (B) horizontal distances 

(C) gradients                       (D) contours 

01 

 n The longitudinal section of the surface of the bubble tube is  

(A) Straight         (B) Circular           (C) Parabolic        (D) Elliptic 

01 

    

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) Explain Automatic target recognition (ATR) 05 

 (b) What precautions to be taken while using Total Station? Discuss. 05 

 (c) Explain Radial shooting. 04 

Q-3  Attempt all questions (14) 

 (a) Explain the term Tacheometry and Explain principle of  Tacheometer. 07 

 (b) Following observations were taken to find out constants of Tacheometer 

Instrument station Staff station          Distances Staff reading 

A X 

Y 

50 

100 

1.31 1.56 1.81 

1.49 1.99 2.49 
 

07 

Q-4  Attempt all questions (14) 

 (a) Give the advantages and disadvantages of Total station 07 

 (b) Derive the Formula D = K*S+C of Stadia Tacheometry 07 

Q-5  Attempt all questions (14) 

 (a) Staff intervals, on staff kept at 60m and 120m distances were observed 0.6m and  

1.20m respectively. Calculate constants of tacheometer. 

07 

 (b) Explain direct method and reciprocal method in trigonometric levelling. 07 

Q-6  Attempt all questions (14) 

 (a) Calculate reduced  level of the top of tower from the following data. 

Instrument station Reading on BM Vertical angle 

of top of tower 

A 

B 

1.75m 

        2.10 m 

+15⁰ 

+11⁰ 

RL of BM is 100.0 m and observations are taken with the line of sight horizontal. 

AB = 50 m and A,B and the top of lower are in the same vertical plane. 

 

07 

 (b) Prepare a list of switches on display board of total station with their basic functions. 07 

Q-7  Attempt all questions (14) 

 a) Tacheometer having constants 100 is fitted with an Analytical lens. The following 

observations were taken with vertical staff  

Instrument 

station 

Staff 

station 

Vertical 

angle 

Staff 

intercept 

Reading of 

RL of Central 

RL of 

station 

07 
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hair 

 p A 

B 

+7º 30’ 

-7 º 30’ 

2.60 m 

1.50 m 

1.80 m 

1.70 m 

 

1.5m 
 

 b) Calculate mid ordinate, long chord, length of curve and tangent length from the 

following data 

1. Deflection angle 40 degree.                       2. Radius curve 200 m. 

07 

Q-8  Attempt all questions (14) 

 (a) Write short note on types of curve 07 

 (b) Write short note on Transition curves. 07 

 

 

Q-1  Attempt the following questions: (14) 

 a ઊબા ખણૂા ભાથી સ્ટેળન નુ ંએલરલેળન અને દરયમાની વ઩ાટી થી ભભૂા઩ન નક્કી 
કયલાની યીત એ ઓ઱ખામ છે  
a) રેલલરંગ        b)ત્રિકોણત્રભતીમ રેલલરંગ   c)ત્રિકોણીમ ઩ધ્ધત્રત   d)રશપ્વોભેટ્રી  

01 

 b ત્રિકોણત્રભતીમ રેલલરંગ ભા,ં લક્રીબલન અને લ઱ાકં નો સધુાયો કેલી યીતે ળોધી ળકામ  
a) યેખીમ ભા઩ન ભા ં    b)કોણીમ ભા઩ન ભા ં    c)A અથલા B    d)ગ્રારપકરી 

01 

 c જો ∆ એ R ત્રિજ્મા લા઱ા વાદા લ઱ાકં નો ડીફ્રેક્વન ખણૂો શોમ તો લ઱ાકં ની 

રફંામ  

 a) 𝜋 R.∆./90      b) 𝜋 R.∆./180           c)  𝜋 R.∆./360        d) 𝜋 R.∆./270 

01 

 d ટેરકમોભેટ્રી ભા ંસ્ટેડીમા ની યીત, શુ ંળોધલા ભાટે લ઩યામ છે 

(a) આડો ખણૂો   b)ઊબો ખણૂો   c)આડુ અંતય   d)આડુ અને ઊભુ ંઅંતય  

01 

 e ટોટર સ્ટેળન ભા ંભાઈક્રોપ્રોવેવય ની વગં્રશ ક્ષભતા શુ ંશોમ છે 

a)2000 to 4000 points            b)3000 to 5000 points  

c) 1500 to 3500points           d) 2500 to 4700 points 

01 

 
f વલેઈંગ ની એલી ળાખા કે જેભા ંવાધન ના અલરોકન થી કોઈ એક લફંદુ નુ ંઆડુ 

અને ઊભુ ંઅંતય ભે઱લી ળકામ છે,તે ઓ઱ખામ છે  

a) ચેઇન વલેઈંગ   b)પ્રેન ટેફર વલેઈંગ   c)ટેરકમોભેટ્રી વલેઈંગ   d)શામડ્રોગ્રારપક 

વલેઈંગ  

01 

 g ટેરકમોભીટય ભાટે ગણુક આચ઱ાકં વાભાન્મ યીતે કેટરો રેલાભા ંઆલે છે 

a) 20      b) 40      c) 60      d) 100 

01 

 h ટેરકમોભેટય ભાટે એરડટીલ અચ઱ાકં નુ ંમલૂ્મ ક્યાથી ક્યા ંસધુી ફદરામ છે     
a) 0 to 15 cm     b) 15 to 30 cm      c) 30 to 45 cm      d) 45 to 60 cm 

 

01 
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 i લર્ુ઱ુાકાય લ઱ાકં કે જેની ત્રિજ્મા Rછે તેની રાફંા તાય ની રફંામ અને સ્઩ળુક ની 

રફંામ વયખી થામ છે જ્માયે રડફ્રેક્વન ખણૂો ................શોમ છે  
a) 30°           b) 60°         c) 120°        d) 150° 

01 

 j વાદા લર્ ુ઱ુાકાય લ઱ાકં ની ત્રિજ્મા 30 ભીટય છે અને ચોક્કવ તાય ની રફંામ 30 

ભીટય શોમ તો લ઱ાકં ની રડગ્રી  
a) 57.29        b) 3.70         c) 55.60        d) 37.03 

01 

 k  

વકં્રભણ લક્ર નો કુર રડફ્રેક્વન ખણૂો  

a) spiral angle      b) spiral angle/2      c) spiral angle/3      d) spiral angle/4 

01 

 l  

ટોટર સ્ટેળન ની કંટ્રોર ઩ેનર ભા ંLCD શુ ંશોમ છે  
a) Light control device          b) Liquid crystal display 

c) Light centred device          d) Lasting calibrated device 

01 

 m  

ટોટર સ્ટેળન ફતાલે છે  
a)ઢા઱ નુ ંઅંતય    b)આડુ ંઅંતય    c)ઢો઱ાલ    d)વભોચ્ચ 

01 

 n ઩ય઩ોટા ન઱ીની વ઩ાટી ભા ંવભાતંય વેકળન   

a) વીધુ ં    b)લર્ુ઱ુાકાય     c)઩યલરમાકાય      d)રફંગો઱ાકાય  

01 

    

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) સ્લમવંચંાલરત ત્રનળાન યેકોગ્નનળન (ATR) વભજાલો  
 

05 

 (b) ટોટર સ્ટેળન નો ઉ઩મોગ કયતી લખતે શુ ંવાલચેતી યાખલી જોઈએ.  05 

 (c) યેરડમર શરૂટંગ ત્રલ઴ે વભજાલો. 04 

Q-3  Attempt all questions (14) 

 (a) ટેરકમોભેટ્રી ળબ્દ વભજાલો અને ટેરકમોભીટય નો ત્રવધ્ધાતં વભજાલો. 
 

07 

 (b) નીચેના અલરોકનો ને ધ્માન ભા ંરઈ ને ટેરકમોભીટય નો આચ઱ાકં ળોધો.  

Instrument station Staff station          Distances Staff reading 

A X 

Y 

50 

100 

1.31 1.56 1.81 

1.49 1.99 2.49 
 

07 

Q-4  Attempt all questions (14) 

 (a) ટોટર સ્ટેળન ના પામદા અને ગેયપામદા જણાલો  07 

 (b) સ્ટેરડમા ટેરકમોભેટ્રી નુ ંસિૂ D = K*S+C તયલો. 07 

Q-5  Attempt all questions (14) 

 (a) સ્ટાપ નો ગા઱ો, સ્ટાપ ઉ઩ય 60 m અને 120 m અંતયે યાખીને જોતા ં0.6 m અને 1.2m 07 
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અલરોકન ક્રભાનવુાય ભ઱ે છે. ટેરકમોભીટય નો  આચ઱ાકં ળોધો  

 (b) ટેરકમોભેરટ્રક રેલલરંગ ની વીધી યીત અને ઩ાયસ્઩રયક યીત ત્રલ઴ે વભજાલો.   07 

Q-6  Attempt all questions (14) 

 (a) નીચેની ભારશતી ઩ય થી ટાલય ની ટોચ ઩ય રયડયવુ રેલર ની ગણતયી કયો   
Instrument station Reading on BM Vertical angle 

of top of tower 

A 

B 

1.75m 

        2.10 m 

+15⁰ 

+11⁰ 

B.M. નો R. L. 100 m છે અને આડી દેખાતી યેખા ઩ય અલરોકનો રેલાભા ંઆલેરા છે  

AB=50 m અને AB અને ટાલય ની ટોચ એકવભાન લટીકર પ્રેન ઩ય છે  

07 

 (b) ટોટર સ્ટેળન ના રડસ્પ્રે ફોડુ ઩યની ચા઩ોની માદી ફનાલો અને તેભના કમો રખો  07 

Q-7  Attempt all questions (14) 

 a) ટેરકમોભીટય નો અચ઱ાકં 100 છે તેને ત્રલશ્રે઴ણાત્ભક રેન્વ વાથે જોડેરો છે . ઊબા 

સ્ટાપ લડે નીચેના અલરોકનો રેલાભા ંઆલેરા છે.  

Instrument 

station 

Staff 

station 

Vertical 

angle 

Staff 

intercept 

Reading of 

RL of Central 

hair 

RL of 

station 

 p A 

B 

+7º 30’ 

-7 º 30’ 

2.60 m 

1.50 m 

1.80 m 

1.70 m 

 

1.5m 
 

07 

 b)  

નીચે આ઩ેરી ભારશતી ઩ય થી ત્રભડ ઓરડિનેટ , રાફંી ચોડુ , લ઱ાકં ની રફંાઈ અને 
સ્઩ળુક ની રફંાઈ ની ગણતયી કયો 

1. ડીફ્રેક્વન ખણૂો 40 રડગ્રી       2.લ઱ાકં ની ત્રિજ્મા 200 m 

07 

Q-8  Attempt all questions (14) 

 (a) લ઱ાકં ના પ્રકાયો ઩ય ટૂંક નંધ રખો  07 

 (b) વકં્રભણ લક્ર ઩ય ટૂંક નંધ રખો.  07 

 


